David Youngberg

Econ 310 

Homework 1—Key
Please answer all the following on a typed, stapled separate sheet of paper. Make sure that you justify your answers and use your own words.
1. What is creative destruction? What role does it play in our financial system?

Creative destruction describes the constant development of new ideas (creation) and the subsequent elimination of undesirable processes (destruction). This constant churning lies at the heart of economic progress for it rewards good developments with survival and removes detrimental ones through bankruptcy. Within the financial system, the good ones are financed by (and thus engendered by) investment—indeed, it is the search for these future winners that sit at the heart of every investors’ dream. The removal of the bad ones allow their resources to be used productively elsewhere and, as noted by James Tobin, investors also have an incentive to “cut the fat.” Thus, through the financial system, the process of creative destruction systematically encourages a world of rising standards and increasing wealth.
2. Consider a new stock market index composed of four stocks: Adam’s Apples, Inc. (A); Belmont Industries (B); Clearwater (C); and Disco Musings (D). Using the stock prices given below and assuming there has never been a stock split, calculate the value index. Then suppose a sudden revival of disco music sweeps across the land, causing (D) to its stock price to rocket forward to $110. The company’s board of directors decides to issue a stock split, creating twice as many stocks. What is the new value of the index after the split? Remember to show your work. (A: $40; B: $50; C: $25; D: $75)
The first step is to calculate the index before the change in D.
(40 + 50 + 25 + 110) / 4 = 190 / 4 = 56.25
Because there are twice as many stocks, each stock price halves (thus the company’s value does not change). Since the value of the index cannot change due to a stock split, we must change the divisor holding the following true:

(40 + 50 + 25 + 55) / x = 170 / x = 56.25
170 / 56.25= x = 3.022
Note that our new divisor is less than four, which makes sense.
3. Name the three functions of money. Briefly, explain them using the economics of a P.O.W. camp from Radford’s article.
The three basic functions of money are a means of exchange, a store of value, and a unit of account. In the P.O.W. camp, prisoners used cigarettes to pay for everything, instead of relying on a double coincidence of wants. Even people who has more than enough cigarettes to smoke, or those who were non-smokers, accepted the cigarettes. This demonstrates that the cigarettes were a medium of exchange—they accepted them not because they were inherently valuable but because they knew they could trade them for something they actually wanted. The cigarettes were also used as a store of value—cigarettes gathered today could be used tomorrow or next week, demonstrated by the fact that some were willing to hold their cigarettes to take advantage of the shortage that occurred just before new cigarettes were delivered. An item’s value was also quoted in the common unit of cigarettes. This activity demonstrates that people were using them to assess the relative value and scarcity of the goods around them—it was a unit of account.
4. Which explanation for the equity premium puzzle do you find most convincing? Why?
While the puzzle likely needs at least all of the possibilities to be fully explained, I feel that loss aversion reflects a substantial amount of the reasoning. People have a natural aversion to weathering bad times, even if it means the payoffs in the long run could be higher. Perhaps this is because every day, the mass media reports the movements in the stock market as if each one is significant, and usually emphasizes when it drops. It is also likely that pessimism and caution are hard-wired into the genetic code of human behavior. From what I’ve observed, seeing the price tumble a bit not only upsets the investor, but ignites fear that this is “only the beginning.” Hence a piece of advice for any who wish to invest in stocks in the long run: buy them and then forget about them. You’re likely to be a lot happier (and richer) in the long run.
5. What are rational expectations? Explain the concept using an example other than expectations about the weather.
Rational expectations (RE) describe a system of thought that reconciles the apparent contradiction that we cannot be rational about the unknown future. When it comes to the future, rational people would use all available and relevant information to make predictions about what the future holds. Bearing these predictions in mind, they would not engage in systematic error; how can one maximize profit/utility if one constantly over or under estimates the future? Consider a person selecting a route to travel home by: a long or a short one. All things being equal, a rational person would pick the short one. But suppose on day that route has heavy construction, causing delays; the commuter underestimated the time it would take to get home. She would update expectations with this information select the longer (but now less time consuming) route next time. After taking this new route for a while, she’ll notice the construction is over and the shorter trip is now available. She’ll jump on this new information, and thus overestimated how long it’ll take to get home. 
